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Topic:- CDP_P2_CTET

K Development is a process that begins

(1) continous life-long; at the time of conception

(2) continous life-long; at birth

(3) process during childhood; at the time of conception
(4) process during childhoed; at birth
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2. 2 [Option D = 2

3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)
Assertion (A) : A child has to have some neuromotor maturation before she learns to
catch a ball.
Reason (R) :  Learning is dependent upon development.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 2][Question Description = S18_CDP_Q002]
1. 1 [Option ID = 5]



2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3)

Socialization is a process in which connections among various agencies of
socialization are

(1) simple; important

(2) simple; not so important

(3) complex; important

(4) complex; not so important
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[Question ID = 3][Question Description = S18_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)

Children in stage can solve concrete problems in a logical fashion but have
difficulty thinking hypothetically.
(1) Sensorimotor

(2) Pre-operational
(3) Concrete operational
(4) Formal operational
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[Question ID = 4][Question Description = S18_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]



?) According to Jean Piaget, children learn meaningfully :

(1) through the process of conditioning of stimuli and response.
(2) when offerred rewards and punishment.

(3) when adults take control and provide explanations.
(

4) through self-initiated activity and discovery.
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[Question ID = 5][Question Description = S18_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)

Which of the following statements in not correct about Piaget's proposal about sequence
of stages ?

(1)  All aspects of cognitive change in an integrated fashion, following a similar course.
(2) Stages can be skipped.

(3) Stages occur in a fixed order.

(4) Stages are universal; they are assumed to characterize children everywhere.
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1[Q:J<[e;ti<_>n |I|; =Zfﬂ[Question Description = S18_CDP_Q006]
2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)



According to Kohlberg the pre-conventional level of moral development is characterised

by :

(1)
(2)
(3)

(4)

focus on how cultural factors and gender influences moral development
good or bad is determined by the consequences of obeying or disobeying rules

the individual strives to maintain the expectations of others rather than focus on the
consequences of one’s actions

Self-chosen ethical principles that are universal
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[Question ID = 7][Question Description = S18_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)
Lev Vygotsky suggested thatchildren’s cognitive developmentis by interactions
with people who are more capable.
(1) not impacted
(2) negatively impacted
(3) facilitated
(4) decreased
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[Question ID = 8][Question Description = S18_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]



7 According to Lev Vygotsky, learning :

(1) is a measurable change in behaviour.

(2) cannot be separated from it's social context.
(3) depends on positive and negative reinforcement.
(4) includes attentional processes and stores of memory.
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[Question ID = 9][Question Description = S18_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

" The abilities in Intrapersonal intelligence include :

(1) capacity to think in images and pictures, to visualise accurately and abstractly.
) awareness of one’s feelings and knowing one’s capabilities.

(3) sensitivity to rhythm, pitch, meter, tone, melody.
)

ability to distinguish between specific pitches, tones and rhythms that other may
miss.
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1[Q:1«E=;ti9n |I|; =317(])][Question Description = $18_CDP_Q010]

2. 2 [Option ID = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]
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11)

An architect designing a city and an artist working on an intricate drawing would require
high :
(1) Spatial intelligence

(2) Linguistic intelligence
(3) Musical intelligence
(4) Intrapersonal intelligence
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[Question ID = 11][Question Description = S18_CDP_Q011]
1. 1 [Option ID = 41]

2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) : ?
In a progressive classroom, the curriculum :

(1) s rigid and highly structured without giving any autonomy to the child.
(2) is organized into fragmented subjects with no correlation amongst them.
(3) is organized according to the capabilities and interests of the children.
(4) is presented in disconnected chunks of information.
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[Question ID = 12][Question Description = S18_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)
A teacher tells the boys in a co-education class - “Do not take up home science in
co-curricular activities, you are not a girl”. This would encourage :
(1) gender equity
(2) gender stereotyping
(3) gender role flexibility
)

(4) gender equality



He-foret el § U fUerr oieshi 9 wedl 8- ' He-ureasRy Afafafed § g faswe @l 7a @, a1
oot el 211" 399 g seE e ?

(1) Siet gHal

(2) Siet wigarfed

(3) et it H adiere
(4) S HHEA

[Question ID = 13][Question Description = S18_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

" Assessment of conceptual clarity of a student can be effectively done by :

(1) Asking the student to recite the definition

(2) Asking the student to think of application of the concept to daily life
(3) Asking the student to copy from the board

(4) Asking the student to memorize another student’s response
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[Question ID = 14][Question Description = S18_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

13) To encourage critical thjnldng a teacher should :

(1) Accept multiple perspectives

(2) Discourage discussions
(3) Be intolerant to dissent
(4) Emphasise convergent thinking
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[Question ID = 15][Question Description = S18_CDP_Q015]



1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]
16)
Inclusion as a philosophy and practice is situated in the context of diversity which includes :
(i)  Linguistic diversity
(i) Gender diversity
(iii) Socio-cultural diversity
(iv) “Ability’ and ‘disability’

1 @ (i)

2 @ @)

(3) (i), (i), (iv)

(4) (@) (i), (i), (iv)
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[Question ID = 16][Question Description = S18_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)
Which of the following is NOT an effective pedagogical strategy to cater to students from
disadvantaged backgrounds ?
(1) Link learning activities with the social and cultural environment of the students
(2)
(3) Make it compulsory for them to take tutions at home
(4)

Dismiss expression in local language

Focus on reproduc tion of school knowledge as it thmug_h repeated practice
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1[Q:J<[eé,;itci>0r:1 |Ig =615]7][Question Description = S18_CDP_Q017]
2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)
Students struggling with often face difficulties in mathematical concepts and
computation.
(1) Dyscalculia
(2) Dyslexia
(3) Dysgraphia
(4) Aubtism
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[Question ID = 18][Question Description = S18_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19 g s pE G B
) An assistive technology to aid vision is :

(1) Large print worksheets
(2

(
(4

) Voice activated computer
) Calculators
)

Magnifying glass

&%)
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[Question ID = 19][Question Description = S18_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) Typical identifying characteristics of creative children include :

(1)  Flexibility, fluency and originality of ideas

(2) High intellectual, social and emotional maturity
(3) Preference for simple tasks and low risk taking
(4) Convergent and rigid thinking
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[Question ID = 20][Question Description = S18_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21)

Multiple ways of are of importance for successful implementation of Universal
Design for Learning ?

(1) Representation

(2) Action

(3) Engagement

(4) Labelling
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[Question ID = 21][Question Description = S18_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22)

What skills do contemporary policies of education such as National Education Policy 2020
propose should be developed in children ?

(1) Critical thinking

(2) Recall and reproduction
(3) Learning for exams
(4) Rote memorisation
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[Question ID = 22][Question Description = S18_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

2 Meaningful learning of students is NOT promoted by encouraging children for :

(1) Exploration and experimentation
(2

(
(4

) Metacognition
) Discussion and debate
) Passive listening

(2t
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[Question ID = 23][Question Description = S18_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24)



The broad prespective of schools and especially teachers to understand failure of students
should be that it :

(1) reflects poorly on the students” academic capabilities.
(2) reflects poorly on the teacher’s abilities.

(3) is a systemic issue and there is a need to reflect on the school systems.
)

(4) is an issue of communities since children belonging to poor economic class cannot

be educated in the same set-up as other children.
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[Question ID = 24][Question Description = S18_CDP_Q024]
1. 1 [Option ID = 93]

2. 2 [Option ID = 94]

3. 3 [Option ID = 95]

4. 4 [Option ID = 96]

25)
Children form naive theories or alternative conceptions because :
(1)  their thinking is much inferior to adults.
(2) they are blank slates.

(3) they are thinking beings who are constructing knowledge by interacting with the
world.

(4) their thinking is illogical and irrational.
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[Question ID = 25][Question Description = S18_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]



26 ; ; 2 g
" When a student is stuck on one way of representing a problem it is called :

(1) working backward strategy
(2) functional fixedness

(3) response set

(4) analogical thinking
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[Question ID = 26][Question Description = S18_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27)

Assertion (A) : While teaching problem - solving, teachers should discourage the children
to think about their own thinking and focusing on how to learn.

Reason (R) :  Development of metacognitive abilities hinder problem - solving.
Choose the correct option.
(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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1[Q;J<[e;£itci>or:1 |||; =120:]][Question Description = S18_CDP_Q027]

2. 2 [Option ID = 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]



28)

Assertion (A) : Teachers should tell middle school students exactly in details what they
have to do including what, how and when to learn.

Reason (R) : Middle school children do not have the capacity to self-regulate their
learning.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A)is true but (R) is false

(4) Both (A) and (R) are false
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1[Q111<E.-;titgn IB =120§]][Question Description = $18_CDP_Q028]

2. 2 [Option ID = 110]

3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29)
Thinking of ability as and failure as motivates the students to
work harder by putting in more efforts.
(1)  Fixed; humiliating

(2) Fixed; an opportunity to learn

(3) Incremental; humiliating

(4) Incremental; opportunity to learn
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[Question ID = 29][Question Description = S18_CDP_Q029]
1. 1 [Option ID = 113]



2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Which of the following factors influences learning ?

(i)  Socio-cultural context of the student

(ii) Age of the student

(iii) Pedagogical strategies to teach a concept
(iv) Teacher’s beliefs about the student’s ability
(1) @ (i)

(2) (), (i)

(3) (@) (i), (i)

(4) (@) (@), (), (i)

Frefafad 8 9 9 @ R die # gafad #iar &2
(i) 1 1 IS -Hipds Hed

(i) B0 oY

(iii) TUF AGEURON FI TeH F foru Herforer et
(iv) =13 = 401 g1 | foager 1 favary
(
(
(3

b1

e

1) (@), (i)

2) (i), (iii)

(1), (i), (i)
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[Question ID = 30][Question Description = S18_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]
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Topic:- MATH_P2_CTET

V' The value of 18 +3+5x6—1 is :

(1) 31
(2) 65
(3) 40
@) 35

18+3+5x6—1HT HHA T :

(1) 31
2) 65
(3) 40
(4) 35

[Question ID = 31][Question Description = S18_Maths Content/Pedagogy_Q031]



1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) !
TR
= = E , then the value of x is ;
1) 1
2 0
(3) 2
oo 2
@ 3
5 -3 Bx—3
3 3
Xg =[g] %,ﬂ?x?ﬂﬂﬂ%:

[Question ID = 32][Question Description = S18_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3)
If 21168 = p*¢r2, where p, q and r are prime numbers, then the value of (4p +3q—2r) is :
1) 6
Q) 7
3) 2
(4) 3

Ifg 21168 = ptq?2 T, T&l p, q 3N r 39T HEA &, & (4p +3q—2r) W AT

(1) 6
(2) 7
(3) 2
4 3

[Question ID = 33][Question Description = S18_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]



? The value of [(—
1) 27
@ 22
(3) 32
(4) 30

[(—20)+4] X (—2)+6X3—1 % HH € :

1) 27
@) 22
3) 32
4) 30

[Question ID = 34][Question Description = S18_Maths Content/Pedagogy_Q034]

1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5)
The fractions

20)+4] x(—

% 27 2
25" 81" 25

g 2, % 45 2
(1) 81" 25" 22" 25

27 45 22 30

@ e e

81" 227" 25" 25
y 4580 2 27
(3) 22" 25" 25" 81
27 22 30 45

@) HW B B2

30 27 22
25" 81" 25

27 30 45

et —

(1) a; Er Z:

27 45 22
(2) 31

81" 22" 25’

45 30 22

(3) E; 2_5; %)

27 22 30

@) B’ 25 25

[Question ID = 35][Question Description = S18_Maths Content/Pedagogy_Q035]

1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]

3ﬂI Eﬁr3ﬂﬁéiaﬁrﬁiﬁnaxﬁmii#ﬁﬁﬁﬂimHT%

22

25
30
25
27
81

=
22

2)+6x3—-1 is :

are written in ascending order as :



4. 4 [Option ID = 140]

6)

The marked price of an article is T 420. A shopkeeper gives a discount of 15% on the
marked price and still makes a profit of 19%. What is the cost price of the article ?

(1) %270
(2) T 290
(3) T 300
(4) T 320

foret e 1 siferd e T 420 B 1 U SHMCR 39 a5 1 Sifehd Oed W 15% i 92 RS9
2, IR fir off 38 19% = 19 9 B & | A% 1 HA Hed FE?

(1) %270
2) 290
3) T 300
4) 320

[Question ID = 36][Question Description = S18_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7)

1 4
If x + == 4, then the value of X+ Y is:
(1) 128
2) 194
(3) 196
@) 256
s 4 S d b — 3.
A ; =3 A ;'(4 HHTTIFT .
1) 128
2) 194
(3) 196
4) 256

[Question ID = 37][Question Description = S18_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]



8 ; ;
" One of the factors of the expression x2y —xi2 +x—y is :

(1) =y
(2) x+y
(3) ay+1
(4) xy

X2y —xy? +x —y % T UAES ©

(1) a2—y?
(2) x+y
B) ay+1
(4) xy

[Question ID = 38][Question Description = S18_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

) In the product (x—2)(x —3)(x—5), the co-efficient of 12 is :

(1) —30
@) 10
3) 1

4 -10

TR (x—2)(x—3)(x—5) H 2 F U0 € ;

1) —30
@) 10
@) 1

4) -10

[Question ID = 39][Question Description = S18_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

" I x2412=6 and ¥y +xy?+22 +1y2=36, then the value of xy is :
(1) 4
@ 3
3) 5
(4) 6



(1) 4
2) 3
3) 5
4) 6

[Question ID = 40][Question Description = S18_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

") Which of the following is a Pythagorean triplet ?
(1) 12,15, 19
@) 8 13, 18
(3) 5,12, 13
(4) 14, 20, 24
71 T | =Rl T qRmiE e E 2

(1) 12,15, 19
(2) 8, 13,18
3) 5,12, 13
(4) 14, 20, 24

[Question ID = 41][Question Description = S18_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)

If one of the angles of a triangle is 1207, then the angle between the bisectors of the other
two angles is :

(1) 60°

2) 120°
(3) 130°
4)  150°

7fg fordll S =1 ek 107 120° 2, @ 9F 311 €1 F190 F GHiGISER % == % F0 2

(1)  60°

2) 120°
3) 130°
(4) 150°

[Question ID = 42][Question Description = S18_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]



13) A regular polygon of 6 sides has :

(1) 3 lines of symmetry
(2) 6 lines of symmetry
(3) 12 lines of symmetry

(4) 9 lines of symmetry

6 SISt aTel Uk HHEBYS | Bl ¢ :
(1) 3 Tafd @
(2) 6 9afid W@
(3) 12 TEfga @
(4) 9 Tufd @

[Question ID = 43][Question Description = S18_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14)

In triangles ABC and DEF, ZC=/F, AC=DF and BC=EF. If AB=4x—2 and DE=3x-1,
then the value of x is :

1 1
2) 2
3) 3
4) 4

st ABC 9% DEF § £/C=£F, AC=DF 3RBC=EF§| A AB=4x— 2T DE=3x—-1%,
e x % HE ©

(1) 1
(2) 2
3 3
(4) 4

[Question ID = 44][Question Description = S18_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15)



Which of the following triplets can form a polyhedron, if the numbers represent the number
of faces, vertices and edges, respectively ?

(1) 4 4and5

(2) 6, 8and 12
3) 6, 8and 10
(4) 5 6and8

fretfatad & 9 7 i TF aghosh o1 Tl §, 4 B ¥ e, gud iR el gen
FHE: FeTeht, It ST AR @t Hed €

(1) 4,4 315
(2) 6, 83K 12
(3) 6, 8310
(4) 5,6 HXS

[Question ID = 45][Question Description = S18_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16)

The heights of two right circular cylinders are in the ratio of 8 : 5 and their radii of bases
are in the ratio of 1 : 2. The ratio of their volumes is :

1) 2:5
2) 1:4
(3) 16:25
4) 9:7

S A9 g Il I Al 8 : 5% STUE H § SR 3k S 1 U 1: 2% ST H )
3 STAI 1 AT B :

(1) 2:5
2) 1:4
3) 16:25
@) 9:7

[Question ID = 46][Question Description = S18_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)



If each edge of a solid cube is increased by 100%, then the percentage increase in its
surface area is :

(1) 100
(2) 200
(3) 300
(4) 400

If U SIH B o Yedoh TRl ol 100% =@l T g, a1 39k g &%e | giaed gig 2 -

(1) 100
(2) 200
(3) 300
(4) 400

[Question ID = 47][Question Description = S18_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)

If the sum of the parallel sides of a trapezium is 40 cm and its height is 10 cm, then the
area of the trapezium is :

(1) 400 cm?
(2) 200 cm?
(3) 40 cm?

(4) 100 cm?

Ife TF GHETE F G Jeel F1 ATHEA 40 cm § $R FERE 10 om €, 79 THAE HT SR
?:

(1) 400 cm?
(2) 200 cm?
(3) 40 cm?

(4) 100 cm?

[Question ID = 48][Question Description = S18_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]



19) Following table shows marks obtained by 40 students. What is the mode of this data ?

Marks obtained 42 36 30 45 50
No. of students 7 10 13 8 2
(1) 50
@) 30
3) 10
4) 36

7 wiferst ® 40 ferenfofal grn ura ford ofept ot gt o B 1 5 stiRel i gt 1 R 2

oS 37 42 36 30 45 50
Toenfei=i =t o - 7 10 13 8 2
1) 50
2) 30
3) 10
4) 36

[Question ID = 49][Question Description = S18_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)

Cards numbered as 12, 13, 14, . . ., 51, (one number on one card) are kept in a box and
mixed thoroughly. One card is chosen at random from the box. What is the probability
that the number on the chosen card is a composite number between 21 and 42 ?

W 3
@ =
B 2
@ =



wrel, fo qudmnd 12,13, 14, . .., 51 (T G0 T F1E T) Siferd €, b oo o T =i & @i
a1t e 9 fre fean = €1

T H 9 U IS g ®9 o femen s €1 el o s W e 21 efw 42 F o 5 ue
T &Y, SHeh! TRl & § 2

QI
@ =
© %
@ o

[Question ID = 50][Question Description = S18_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

21)

Great Indian mathematician who gave approximate value of 1 correct to 4 decimal places as
3.1416 is :

(1) Aryabhatta

(2) Mahavira
(3) Brahmagupta
(4) Srinivasa Ramanujan

e Y™ Tfoes 520 « (%) 1 ST 9F 4 S99ad ®IH 9% 981, 31416 femm an, 3 7

(1) g
(2) HEER
(3) S
(4)  SifFems THTSH

[Question ID = 51][Question Description = S18_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID =203]
4. 4 [Option ID = 204]

22)



Which of the following method is most suitable in establishing the formula for compound interest
in class 8 7

(1) Laboratory method

(2) Deductive method

(3) Problem solving method
(4) Inductive method

Fe71 8 H Tehdfg = 1 g3 wWfqg w4 & forg Frefafed § 9 F-9t fafy a8 swgw &2
(1) g fafy

2) T fafy

(3) HHE warE fafy

(Eh]

HFTHATH fafy

e

(

[Question ID = 52][Question Description = S18_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

23)

According to Van Hiele’s levels of geometric thinking at which level students will be able to draw
a right = angled t]'iangle and also name it as Right Scalene Triangle ?

(1) Visualization

(2) Analysis
(3) Relationship
(4) Axiomatic

99 gel & SHdrE fowd o W % an famnedl fre ®R w uw wEe B 9 i e 9
ferrrarg weeRror st = off € and 2

(1) e

(2) Tawersm
(3) HeH I THHA
(4) w=EEg

[Question ID = 53][Question Description = S18_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

24)



Which of the following is NOT a preventive method for rectifying careless error ?
(1) Teaching a concept in multiple ways

(2)

(3) Encourage learners to take the help of calculator and pay attention during problem solving
(4)

Encourage leaners to learn different steps in problem solving

Encourage leaners to practice a number of similar questions

Trefafad 9 9 % amamr 32 #1 gura & fore e alw 7 &7

(1) T HAGURUN %I 3 qLl H Ml

(2) ool =61 woen HaEE | = ® A% 4 6 oy gieared

(3) Toenfeldi =t Soperet =t 7eg % fad oK T gaeE & SHF oIF oA & forg demfea s
(4) Toanfeli =i 34t bR % &< Gamw@l ®l & FH & AU e s

[Question ID = 54][Question Description = S18_Maths Content/Pedagogy_Q054]

1. 1 [Option ID = 213]

2. 2 [Option ID = 214]

3. 3 [Option ID = 215]

4. 4 [Option ID = 216]

25)
Which of the following statement is NOT true about errors in a mathematics class ?
(1) Children’s errors are natural and inevitable part of their process of learning
(2) Children’s errors are reflections of how children think and learn.

(3) Children’s errors can play a constructive role in helping the teacher to develop
mathematical thinking in them.

(4) Children learn only when there is no error in their responses for a given problem

it i e | Ffedl % R § fefafed § § $19-9 %99 9 7@ 8 7

(1) == i Fieal T g i gl #1 w@nnfas o srafer femm €

(2) == Bl oA 79 9@ H Wiafea € for 9= FH Hi=d &R e 2

(3)  Tfordra dr fassfaa 0 % fau s=1 it 3feai us forer #1 7ee w3 H§ e i fan
gl # |

4) == aul e € o R wwen F ol 3 Sw o e IR A Al

[Question ID = 55][Question Description = S18_Maths Content/Pedagogy_Q055]

1. 1 [Option ID = 217]

2. 2 [Option ID = 218]

3. 3 [Option ID = 219]

4. 4 [Option ID = 220]

26)
In accordance with the nature of mathematics, which of the following can not be proven false ?
(1

)
(2)
(3) Hypothesis
(4)

Theorem

9]

Conj ecture

2

Proposition



wford &1 wehfa o sER, Frefafea § @1 s fag =& fon < wekan €2

(1) w84

(2) eI
(3) ufterea
(4) G A

[Question ID = 56][Question Description = S18_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)
A teacher draws a rectangle on a graph paper and asks the students to draw some more rectangles

but using the same number of squares in graph sheet as in the rectangle drawn by her. Which of
the following describes the most appropriate objective of doing this activity ?

(1) Differentiate between a rectangle and a square

(2) Rectangles with equal area can have different perimeter
(3) Rectangles with different area can have same perimeter
(4) Rectangles with same area always have same perimeter

% forferem U T% TR W T A1Id 9976t ¢ ao faenhiE w1 3o o a9 F fau wedt € 7 ITE
YR =1 31 8§ % o o 9T § e forfarest 5 straa o s g e o)

frefafes #§ 4 wh-ar 39 wfafafy @ w0 1 gatfus swgw st/ 872
(1) a7 &R SI&d F &g Sfa T

(2) HE &Rt el ST S aRET e 8 Heha ®

(@) = émrRet el Sl o 9Ty HeE B e §

(4) HEH SFFS 9l ATEdl 1 IRET Héd @ gHE g

[Question ID = 57][Question Description = S18_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)

Which of the following is NOT true about mathematics curriculum ?

(1) To create positive attitude towards mathematics among children is a major objective of
primary stage mathematics curriculum.

(2) Primary stage mathematics curriculum focuses an teaching abstract concepts through
formal algorithm.

(3) To think, reason, analyse and articulate logically is an objective of mathematics
curriculum at secondary level.

(4) Mathematics curriculum at the higher secondary stage should make the students realise
a wide variety of mathematical applications.



frafafed 8 & ®F- o & aeTwd % 9R H 98 T8 8 7
(1) == § wor % gfa Terrrees gfteenron fer o mafiaes e = o qrewsy &1 yoE 5 §
(2) UATHE T R G TSR, STY STEHROTS 1 UM Heriary ¥ UgH U higd 2l ©

(3) HIEAMF W W UM UISEH 1 U 3ev4 dlfches €9 H A=, foaa= &, faver o &
AR T HE R

(4) T HEAHE W TG F ISTEA 1 BB & MU AT i U fawga fafara =
TEHH FIAT =1fey

[Question ID = 58][Question Description = S18_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29 Which of the following mathematical reasoning proceeds from concrete to abstract ?
(1) Deductive reasoning
(2) Inductive reasoning

(3) Reductio ad Absurdum

(4)

4 Analytical reasoning

Trferfad § | sF-| 1forda o 3| | &7 i S = 8 2

(1) TrATEs a5
(2) HFTHARHS ek
(3) ST yeeA

(4) Toveiwumed®

[Question ID = 59][Question Description = S18_Maths Content/Pedagogy_Q059]
1. 1 [Option ID = 233]

2. 2 [Option ID = 234]

3. 3 [Option ID = 235]

4. 4 [Option ID = 236]

30)

Which of the following is the most appropriate method of teaching experimental probability in a
mathematics class ?

(1) Use more examples from the textbook

(2) Ask children to toss the coin 5 times and note the outcomes
(3)  Ask children to toss the coin 50 times and note the outcomes
(4) Discuss the topic in the class



frafafes § § @+ afor wan § wrife wfwa sem =t sifa sogeE fafiy 52
(1) IreIgEes 9§ A ISl & T HEAl

(2) == 5 aR ToEen seTe au uitm ferem @ fag s

(3) == @ 50 IR Toer SuTer qu uRomm faad % fore e

(4) e ¥ fawa W ufE==l (F=9)

[Question ID = 60][Question Description = S18_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET
1)

How does a periscope work in a submarine ? Choose the correct options.

(A) Light from an object strikes the top mirror at 45° and bounces off at the same angle to the
lower mirror so that a person can see the view outside.

(B) Light from the lower mirror enters the top mirror at 90° and bounces off at 90° to the top
mirror to make the top view visible.

(C) Itis based on laws of reflection.
(D) Itis based on laws of refraction.

(1) (A)and (B)
(2) (B)and (C)
(3) (O and (D)
(4) (A)and (O

forett wrgeelt ¥ uiteefl % = a1 € ? Wel fashedi o1 wae ifen |

(A) fersi foia @ weprer 45° T ¥id <dor T ggar ® ofR 3¢ & w freet gdu | wwafda dar ¢ e
e ST §94 2@ Hehd1 € |

(B) v e gdor  ofid <dw v 900 W emdfad € € @i wuafda S 900 W wie gder oX S ®
Tomrdr vl gvor gfterien 2 &

(C) =% Tede o fami 9T anenfid T

(D) € {9ad & Fredl W s 2

(1) (A) R (B)
(2) (B) ¥R (C)
(3) (O ¥R (D)
(4) (A)ER(©Q

[Question ID = 61][Question Description = S18_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



2)

Ice floats on water because :

(A) Being a solid, density of ice is greater than water,

(B) Ice combines with air which helps it float due to buoyancy.
(C) Ice undergoes break in hydrogen bonding which makes it float.
(D) Molecular arrangement in ice is different than in water molecules.
(1)  Only (A)
(2)  (A) and (C)
(3)  (A) and (D)
(4) Only (D)
6 el W A%l & il

(

3 T FHRU g F1 I T 9 A T

o 9 ¥ W Bl © TEs Ieeleskal o R 39 GO H werd e 8
ARSI ey Z2d € fod 5 aud B

% H enfoass sraeen 56 it AuEi ot e 9 fie ¥

e (A)

(4) 3 (©)

(A) 3R (D)

Fad (D)

[Question ID = 62][Question Description = S18_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3)

Assertion : Copper and aluminium wires are usually used for transmission of electricity.

Reason : Copper and aluminium are good conductors and have a high resistivity.

(1)
(2)
(3)
(4)

both assertion and reason are correct and reason is the correct explanation of the assertion
both assertion and reason are correct but reason is not the correct explanation of the assertion
assertion is true but reason is false
assertion is false but reason is true



TR : FIW T8 LAMAMAIE o a7 94: 526 & F=0 § 97 2 21
WROT:  HR UG UMY g § SR STkt gfaidsd 39 2

(1)
(2)
(3)
(4)

USRI Ud SINOT SH1 U2t § 2R ifehem &1 9 Srel et B |
IfeRe T hRUT <1 Wel § foieg ammeor, sifaener st el =amen 76 €|
TR H 2 g SIROT 379 2|

srfiener a8 § ffeg SROT T3 21

[Question ID = 63][Question Description = S18_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4)

What is the reason for boiling of water at lower temperature at high altitudes ?

(1)

There is increase in atmospheric pressure at higher altitude which leads to lowering of boiling
point of water.

There is decrease in atmospheric pressure at high altitudes which leads to lowering of boiling
point of water.

The energy required to heat water increases at higher altitude leading to lowering of the
boiling point of water.

The energy required for boiling water is higher at higher altitude due to low temperature
leading to lowering of boiling point.

A W, FH A9HF T S % SH 1 H FE 8 ?

(D)
(2)
(3)
(4)

FARA W AgHSE T | gig Bt ¢ e St o daei e 8 S 2

AR WAHeHE gE | g g © fomd ot = gaerie e 8 e €1

SERE RS ™ w5 F fau gifed s 4 gig o § o 5e 1 sgeHiE e 2 S e
ST UL FHH AEHE B % ShIRU STl SdTe o folt gifed o1 3= 2l @ gy Siet 1 dgeHis fe
B @IR

[Question ID = 64][Question Description = S18_Science_Q064]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]



) Read the table below and answer the following question.

Substance Melting Point (°C) | Boiling Point (°C)
Sodium 98 882
Sulphur 115 444

At what temperature would both the elements be in liquid state ?

(1) Above 444 °C
(2) Above 98 °C

(3) Above 882 °C
(4)  Above 115 °C

e &t 7 groi gfed it fefafea gem w5 s difem

el eI (°C) FaUiE (°C)
Oifesg 98 882
HEH 115 444

Torg arUeF 9 SHT O 29 Srereen | B ?

(1) 444 °C 9 FW

(2) 98°C § FW

(3) 882°C § FW

(4) 115°C 9 W
[Question ID = 65][Question Description = S18_Science_Q065]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6 Which of the following statements are correct ?
(A) Electrostatic force is a non-contact force.

B) Ability to lift things with a magnet is an example of contact force.
C) Airplane flying through the air is an example of non-contact force.

(

(

(D) Gravitational force is a non-contact force.
() (A) and (D)

(2) (B) and (C)

(3)  (©) and (D)

(4 (A)and (B)



frafafed § & %0 ¥ wom 96 €2

(A) Ter-ga s« e .o 9 g

(B) e g SEg3Hl Tl IS I AT T el T Teh 5 ¢ |
(C) 9 H oAl agaE ol 96 w1 UF SEe g

(D) TEERYY dc Ueh f: 5990 o B

(1) (A) ¥R (D)
(2) (B) ¥R (Q)
(3) (C) ¥R (D)
(4) (A) ¥R (B)

[Question ID = 66][Question Description = S18_Science_Q066]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7 Which one of the following statements is NOT correct about sound ?
(1) Vibration produces sound in humans.
) Sound can travel through vacuum.

(2
(3) If amplitude becomes twice, loudness will be four times.
(4) Higher the frequency of vibration, shriller the sound.

a1 o Hewl # Frafafad # & %M 91 e 98 7d 87
(1) ¥FEl § 09 =1 309 6 8

(2) At frata o fa # Fd 8

(3) Afe ™ ST 8 S, = =R O 8 S |
(4) TSl 3= %99 &1 eagfa, 3ot & HuieE ||

[Question ID = 67][Question Description = S18_Science_Q067]

1. 1 [Option ID = 265]

2. 2 [Option ID = 266]

3. 3 [Option ID = 267]

4. 4 [Option ID = 268]

8)
The pH of four solutions A, B, Cand Dis 9, 2, 7, 4 respectively. Arrange them in the correct order
of acidic strength.

(1) A>C>D>B

(2) B>D>C>A

3) C>D>B>A

(4 D>B>C>A

=



<R fa@@dl A, B, C 3R D &1 pH 9% 9,2,7,4 81 5% 37 Yool o Hel %Y H oFarerd Hifey |
(1) A>C>D>B
2) B>D>C>A
(3) C>D>B>A
(4 D>B>C>A

[Question ID = 68][Question Description = S18_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]
9)
Specify the order of methods that you will use to separate salt mixed in oil and water ?
(1) Evaporation of oil followed by evaporation of water from salt.
(2) Use separating funnel to remove water and oil, followed by evaporating water from salt.
(3) Using decantation of water followed by evaporation of oil from salt.
(4)

4 Using filtration method to remove salt and letting it dry.

et wd e o fafyd e 1 yus A F o s oA fafersi 1 suen i, 3% % &1 3ot whifer |
(1) O 1 AL, GeIv=N STav] | Sicl ohl STdieRtul

(2) Sl Ue el i e % fore qeeRRl Y 1 SUERT, deqvHie el | Sl i arsdie

(3) STd o1 e, qeavsrd adu | del SRl ST

(4) 9o feher & foag frerer fafy o1 soan it =9 o5 @M <

[Question ID = 69][Question Description = S18_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

19 Consider the following set of reactions :
(A) Mg + CuO — MgO +Cu
(B) 2Na + MgO — Na,O +Mg
(C) Zn + CuO — ZnO +Cu
What can you infer from the above set of reactions ?
(1) Reactivity of Cu is more than Mg but less than Na
(2) Reactivity of Cu is greater than Zn
(3) Reactivity of Mg is more than Cu but less than Na
(4)

4 Reactivity of Mg is more than Na



Trefafas sfafred % 99=a © faar S

(A) Mg + CuO — MgO +Cu

(B) 2Na + MgO — Na,0 +Mg

(C) Zn + CuO — ZnO +Cu

Sy srfafseenedi 3 wg=a 9 o = frepd freere s €7
(1) Cu i sfufamiiea Mg & tfires fog Na | =7 1
(2) Cu @l STHERATN Zn | i T

(3) Mg @i sfafsmameiem Cu ¥ w1t g Na & F1 21
4) Mg %1 sAfufEarian Na § afis 2

[Question ID = 70][Question Description = S18_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

") Gold is preferred for making jewellery because it is :
(a) Malleable

(b) Resistant to corrosion
(c) Highly reactive

(d) Sonorous

(1) (a) only

(2)  Only (b)

(3)  (a) and (b)

(4 (a), (b) and (c)

st fafor & S 1 i <t St § i T8

(a) aamem o ¥

(b) e At T

(c) 3Tcaftrer HAfufsramsiier 21
(d) ST R

(1) ad (a

(2) A (b)

(3) (a) ¥ (b)

@) (a) (b) ¥ (o)

[Question ID = 71][Question Description = S18_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]



'2) From the following, identify the set with only physical changes :

(1) Rusting of iron, melting of ice cream, freezing of wax

(2) Freezing of ice cream, melting of chocolate, dissolving of candy
(3) Cooking of food, beiling of oil, pounding a herb

(4) Rusting of iron, burning of paper, digestion of food

Frafafed fea gg= # Faa sifes ufeds gmfa= €2
(1) I %I ST @], S F1 [T=e], JH 51 S
(2) AR T AT, Fehere 1 faaer, et 1 g
(3) ISH 1 YA, O I I, STSES! Fel

(4) IS I S T, HITS I Ster, S T 9EE

2

[Question ID = 72][Question Description = S18_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) 61 : Esters are the chemicals which give fruits their smell.
§2 : Polyester is actually a polymer with repeating units of esters.
(1) Both S1 and S2 are correct
(2) Both S1 and S2 are incorrect
(3) 81 is correct and S2 is incorrect
(4) 82 is correct and S1 is incorrect

S1: TR d A T Sl el ol S9! Y T

2 : TifeTuRR arad H UF a9gal € Sl WX & Usheh i TG & 5 ¢
(1) 1 3R S2 gH Tl ¥

(2) S13RS2 T TTEd ¥

(3) S1 W&l 3K S2 T 7

(4) S29@l ¢ R S1 Terd €|

[Question ID = 73][Question Description = S18_Science_Q073]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]



14 Match the following with their uses.

(A) Paraffin wax (i) [Paints

(B) |Bitumen (ii) |Ointments

(C) [Super phosphate (iii) [Weedicides

(D) |24-D (iv) |Fertilizer

(1
(2
(3
(4

o

g S

Trfafad = 396 3uan ¥ ghfed it |

(A) [Tftre gm (i) [T=

(B) |fagH (ii) |9eH

(C )[g= wiERe (iii)| BROTERARTR
(D)[2,4-D (iv)[zetr

(1) (A)), (B)-G). (O
(2 (A)@), (B)-i), (O
(3)  (A)(E), (B)-(iv), (O)-(), (D))

A)(iv), (B)-(ii), (C)-(iii), (D)-()

3
(4)

— — — —

[Question ID = 74][Question Description = S18_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

%) Vaccines provide immunity to our body by :

(1) Increasing the number of antigen in our body

) Providing antibiotics to our body

(2
(3) By programming our body to produce anti-inflammatory cells
(

4) By programming our body to produce suitable antibodies

SR (Fieh) THI IR A1 Yiaqeer UeH i ¢ -
(1) =9 IR | ufasH =i dea d gig &
(2) EHN YRR =l yigsifas ae

(3) BN YRR i yfayeres wifeemedi & fmior o fom Tan &2
(4)

[Question ID = 75][Question Description = S18_Science_Q075]

1. 1 [Option ID = 297]
2. 2 [Option ID = 298]

THN IR 13U Wil =1 3e9a o 8 da)



3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16} Which of the following statements is incorrect with respect to cells ?
(1) Prokaryotic cells have nuclear material but no cell membrane.

(2) Plastids are present in plant and animal cells.
(3) Cell membrane is present in both animal and plant cells.
(4) Cell wall is present in plant cell only.

Trfafas | 9 & W % FveEe & d9ed J o[ § 2

(1) e whifvEmsti § Heewa it 2t & fheg w18 i faeet =& €t
(2) UIeH q SiE iRt  das 3ufed g 2

(3) eiferR foreett S &iiK ey Fifvemedi < H Sufem 2 7

(4)  wiforRT faf haet gy wifeee # Bt €1

[Question ID = 76][Question Description = S18_Science_Q076]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

17)  Which one of the following statements is true about the human circulatory system ?
(1) Veins have thick walls and no valves present.

(2) Deoxygenated blood is blue in colour.
(3) Dark clot formed over a cut is due to white blood cells.
(4) Veins carry deoxygenated blood.

e & YRR a3 % Hey H freafafas § 3 0 W e g § 2
(1)  formsii =it fufa T=T 2t § oit 18 w78 2 |

(2) faeiadiera s et 1 = g 2

(3) Tl <ie % SR o1 TRU R YT BER HIFTEIS % HE T
(4) Tord foatieriee BfR o e € |

[Question ID = 77][Question Description = S18_Science_Q077]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



'8) Study the table and identify A, B, C and D.

Human and plant diseases | Causative micro-organism | Mode of transmission
Citrus canker Bacteria A
Hepatitis-B Virus B
Malaria Protozoa &
Yellow vein Mosaic of okra Virus D
(1) A-Air, B-Water, C-Mosquito, D-Insect
(2) A-Water, B-Air, C-Mosquito, D-Insect
(3) A-Water, B-Water, C-Mosquito, D-Air
(4) A-Air, B-Water, C-Mosquito, D-Water
TR T 3789 HIfST U A, B, C 3R D Yg=1f :
U U Uiy W ITeRTe: Geusiat | TRt i |ies
foeg Ha Eicil| A
BUeEfeq B fermy B
ot PIEEIE) C
#feu (fuvgh) =1 dten fBrr (98) Fersmay D

1) A-31, B, C-H=Y, D-#ie

3

A-Sd, B-Sdl, C-H=3Y, D-d19
(4) A-9rg, B-5id, C-H=, D-5ied

(
(2) A-S@, BAR, C-H=3%, D-&ie
(3)

[Question ID = 78][Question Description = S18_Science_Q078]

1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

19)

Identify the correct word for the following :

(A) Animals which give birth to young ones

B) Animals which lay eggs

C) Forms due to fusion of the egg and the sperm

D) Transformation of larva to adult through drastic change

(
(
(
(A), (B), (C€) and (D) respectively are :
(
(
(
(

A)-oviparous, (B)-asexual reproduction, (C)-zygote, (D)-metamorphosis

)

) (A)-viviparous, (B)-oviparous, (C)-zygote, (D)-metamorphosis

) (A)-oviparous, (B)-viviparous, (C)-asexual reproduction, (D)-proteins
)

A)-viviparous, (B)-asexual reproduction, (C)-metamorphosis, (D)-zygote




Frefefad & forg wél wai =i ve=m Hife

(A) TS fomy s S 2

(B) e St 31 T T

(C) g Ud I F Ged § 59 B

(D) ©El § =Feh | gael 9fer R 9 |

(A), (B), (C) 3R (D) w9 ¥ :

(1) (A)-3TUEYS, (B)-3Teifieh S+, (C)-F79, (D)-FHriaRo
(2) (A)-HSTEYS, (B)-AUSYSTS, (C)-FHH, (D)-FE

(3) (A)-STUSYS, (B)-Teitawsrah, (C)-STife S+, (D)-H2H
(4) (A)-SSEys, (B)-3Tifieh 5, (C)-FHEaty, (D)-ZH6

[Question ID = 79][Question Description = S18_Science_Q079]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

20)
Sehaj’s observation about a new plant is that its stem is thick with waxy layers and roots are very
deep. Identify the correct habitat of the plant.

(1) Desert
(2) Mountain
(3) Water
(4) Grassland

T 0 99 % g9 § 9es 1 7aeH ¢ foh 019 SIEl 9% & 9o 39 991 9121 § o1 98 o7 el 2
1% o Hal SA1arg i YgH hifsru |

(1) IFE
(2) 9
(3) S«
(4) =TTE

[Question ID = 80][Question Description = S18_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)



From the following, identify the statements that are false about science.

()

All scientific ideas are discovered and tested by controlled experiments.

When a theory has been supported by a great deal of scientific evidence, it becomes law.
Scientific ideas are tentative and can be modified or disproved.

Science is a creative field and scientists need imagination to carry out their work.

() and (b)
(b) and (c)
(c) and (d)
(a) and (d)

Freferfag el 9 9, 9 Fo Bifew S foagm & famm § o999 2

ot S faemdl =) O 2 § iR frEfa v g s s e E

a1 e g fasrr gami gr wmfa g 8, 79 9 fem e

fomrt foram wemmTeTss & & SR 37 |nfer =1 sqwmior feran S e 7
o™ Ueh gorTeHs & § IR ARl 1 T S T o (A shedAmiieral i sTevdeRd 2

[Question ID = 81][Question Description = S18_Science_Q081]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)  Concept mapping is NOT used as a tool for :

(1) eliciting ideas of learners

(2) lesson planning
(3) assessment
( mapping student’s progress
I = HATEHA0 T S0 B9 H ST @ (R S Heel
(1) Foenfe % fommr freheem & fog
(2) ISATSAT S & g
(3) @IRer & fag
(4) To=nfefai =t wafq o1 A== w0 % fo

[Question ID = 82][Question Description = S18_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]



4. 4 [Option ID = 328]

23)

The NCERT, Grade 8, Science textbook asks children to talk to grandparents and other elderly

people in the neighborhood and find out from them the sewage disposal systems available in their
time. What is the purpose of such kind of activities ?

()
(b)
()
(d)

()

ESEBE

It helps students to understand the changes that have taken place during recent years.
It helps students be thankful for new advancements and judge the past.
It helps students to go out for a fun activity and break the monotony of classroom activities.

It helps students to develop skills of making a question, asking questions, gathering
information, etc.

It helps students explore different sources of information other than textbooks.

NCERT 1 &=l 8 & faeH i UIeaq&iss, 9= ¥ S qg-ae! 3R USd & o= Ju 9 a1 & 3R I8
SR Tor 76 T o aifeader fed 1 g e sy off, wed @ 2

()
(b)
()

(d)

(e)

(1)
(2)
(3)
(4)

7rg faenfudi =i =7 uftgd i =i gz § ueg Fd € S o34t eret & o 9 § gu ¥ |
7% Taanfe=i &1 ayaerrer & fawa | faofg o oiw Fdi wfedl & ufa Fa= 29§ geg =l 8

71z faenfel &l wrse foRareran & fou 9t SiF U Ferens & foRameRamdl s =iEdl e § Heg
H B

=g fantei=i =1 sk 9o o1 9000 & o SRR 1 fosd &, 999 ga, Y991 UHT & 5o |
TeE Al F

718 Tl =01 qreqEashl % STear =1 % 81 Fidl i @ieid H 7Eg HId 2|

[Question ID = 83][Question Description = S18_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

24)



Which of the following are recommendations of NCF 2005 for upper primary science teaching and
learning ?

(A) Creating learning situations in the context of children.

B) Creating situations for children to construct their own knowledge.

C) Vocational education needs to be integrated with science.

(

(

(D) Concepts should be taught through a disciplinary approach.
(1) (A)and (B)

(2 (A)and (C)

(3) (A) (B) and (©)

(4) (B) and (D)

Frefafas § 9, 351 mufe fagm faeor ug saftrm % fag NCF 2005 & 20 21ian § ?
(A) =i 8 Hafya stferm feafadi =1 fmpon

(B) @i % fery e feufomt, wre1 & s 9 frmio & e, g &

(C) =HEEEs foen =1 faam & oy guEsfed 21 mEvas 2|

(D) HYeEl ! Uk fowaaees SurTH 4 faramn =ifen |

(1) (A) ¥R (B)
(2 (A)ER(©Q)
(3) (A), (B) #iT(C)
(4 (B) 3R (D)

[Question ID = 84][Question Description = S18_Science_Q084]

1. 1 [Option ID = 333]

2. 2 [Option ID = 334]

3. 3 [Option ID = 335]

4. 4 [Option ID = 336]

25)
A teacher begins with a discussion of acid and base, their properties, occurrence in everyday life,
pH and indicators. After teaching acid-bases the teacher arranges verification activities of
acid-bases. This approach to sequencing of teaching-learning activity will be termed as :
(1) Inductive
(2) Deductive

(3) Constructivist

(4) Inquiry based



T et ot AR &R, 3 e, S SfiaT § 3! SYeeHd, pH SR gEel § T4 oY Fa B
aTre-aril o Torer sut e srer-eiRi % ferg gftessor snuifia foramreny snaifed e €1 fsor-
a1ferTa foRarshetTy it uitegdl & 39 SURTH ] el S :

(1)
(2)
(3)
(4) Sira-snufE

H

[Question ID = 85][Question Description = S18_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26) Samar has the following views on open book questions for assessment.
(a) It reduces fear of assessment in students.
(b) It gives full opportunity to students to explore the book.
(¢) It reduces burden of memorizing any answers and is unfair to bright students.

(d) It helps to gauge the conceptual understanding of the student.
Select the view/views that are aligned with the spirit of open book questions.

(1) (a), (b)

(2)  (a), () and (d)
(3)  (a), (b) and (c)
(4)  (a), (b) and (d)

qeie & feau geft-qeae wedi % fawg § wm & four fr=fafea §

(a) = faenfeli § geaisnd & 94 &1 %1 L 2

(b) = Tornfei=i =1 Jeash %1 WIS T & 01 ST <aT ¢ |

(c) s Tt off SR &1 a1 A o1 YR FH i & $IR eHer farnfeai 3 forg smefaa €
(d) = founef =} yera 9ug &1 sTe i H 08 Ral §

3 T/ fa=mi =1 =529 s S el Y& & q9H & 99 % 91y gimferd e T

(1) (a), (b)

(2 (a) (c) ¥ (d)
(3)  (a), (b) #R (c)
(4)  (a), (b) 3 (d)
[Question ID = 86][Question Description = S18_Science_Q086]

1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



27) Divergent questions in science help learners to :
(a) Develop multiple views
(b) Improve their thinking strategies
(¢) Engage in classroom discussions
(d) Arrive at one answer

(1) (@), @), ()
(2)  (a), (c), (d)
(3) (b), (c), (d)
(4) (a) and (b) only
fomm & saardt gvm forenfofi 6t Heg & @ -

(a) =g faari & fawm o

(b) SRl oo ST % uR |
() ey gfE=iet H =2 T H
(d) UH ITW dF Uga H§

(1) (a), (b). ()

(2) (), (c), (d)

(3)  (b), (9) (d)

(4) e (a) 3R (b)

[Question ID = 87][Question Description = S18_Science_Q087]

1. 1 [Option ID = 345]

2. 2 [Option ID = 346]

3. 3 [Option ID = 347]

4. 4 [Option ID = 348]

28)
Which of the following is NOT an objective of using discrepant events in science classroom ?
(1) It helps teachers to elicit misconceptions in students.
(2) It helps to create cognitive conflict in students.
(3) It helps student to view their ideas differently.
(

4) It helps weak students to perform well in assessment.

faam % ey o faga weel & s9dm = fefafiad § 9 @ v sty 78 82

(1) I faenfel & wfal somr e o fesnl i wer S g
(2) =% fomnfeli § ST 55 3099 01 H HEral Y 5

(3) = faenedf =t o fommd =1 fumr €0 9 3 HEE HAT R

(4) =% FHSR T = e o s weviy w1 T 7eg Hd g

[Question ID = 88][Question Description = S18_Science_Q088]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



29)

The science textbooks often have coloured boxes with interesting stories of the past. There is
information about William Harvey (A.D. 1578-1657) who discovered the circulation of the blood
and how it was not accepted at that time. He was ridiculed for his ideas. (NCERT, Grade-7)

What are the objectives of science teaching-learning that are fulfilled by including the above in the
textbook ?

(a) To develop a historical perspective for the development of a concept.
b) To develop a sense that new ideas take time to be accepted.
¢) To develop open-mindedness in science.

e e

d) To include fun element in science which are not for testing.

(1)  Only (a) and (c)

(2)  Only (c) and (d)

(3) Only (a) and (d)
)

(4)  (a), (b) and (c

o =Y WeaEehl § U e i eyl weitEl G et | < WE 2t € | faferes 7 (ALD. 1578-
1657) fomeiv fer & uftg=om =t @iet &t off i forg g a8 <0 goa @isr 7 =t 78 o, & faum §
A1 € T 71 AR 39 faail o forw sue foem e o) (@ E e A wi-7)

o & foremor-sifirrs & U9 &9 9 2yg € S weays § SWiEd o afmfod w5 9 qof gu E?
(a) Hue * form % fou tfeifas oftie =1 fawm o)

(b) =% gme faswfaa & fe 73 faerl i @ier #8999 o 2

(c) Tomm ¥ gei-wfiaer /a1 fashrd |

(d) fomm ¥ @e =1 |fmfed w5 e smeher T8 wE ¥

(1) o () 3R ()
(2) I () AR (d)
(3) e (a) AR (d)
(4) (a), (b) ¥R (0)

[Question ID = 89][Question Description = S18_Science_Q089]

1. 1 [Option ID = 353]

2. 2 [Option ID = 354]

3. 3 [Option ID = 355]

4. 4 [Option ID = 356]

30)
Assertion :The facts of science serve as the foundation for concepts, principles and theories.
Reason : Facts in science are static and do not change.
(1) both assertion and reason are correct and reason is the correct explanation of the assertion
(2) both assertion and reason are correct but reason is not the correct explanation of the assertion
(3) assertion is true but reason is false

(4) assertion is false but reason is true



aTfueRe : faam & e 39 dyerd, e ot fagr o fau snur &1 & 3 2
wror:  faem % aoy Tl € v uftafda e

(1) Sfueher 3T HIROT SHT HE § o sifuehem =i W&t =amen st 7

(2) 3R i ot SHT WET € foneg T, eifieRer =t W@l = 7@ 7

(3) eIfueRes T § foeg 0T 39 B

(4) 2IfeReT sHe € fog HINOT H €

[Question ID = 90][Question Description = S18_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P2_CTET

1)

few wu TenyT W saFgds ufew qUT U T Uy o forg wew sugen fawew v waw
THITAT |

WA TS SguIfies 81 39 U % el o= agwifus 2 €, Aifra el U wur w1 aifte
ATEAfehdT 2l TSR ST THleh 31 W AT W1 % €9 @1 fou S € 5699 g9 okl geHcHad a0
YUE W TERIHE T TSl € | el § sedi i aguifus emansii 1 SuE s, dren-famm
i agwifuer gfic &1 deyyl Yeq ©1 agwifusar U ufman § e w9 sifuss smwisdi &
IYART Rl TR R S ® | U e o Hg T 3 Wie-Ene S ey arened e S 9
F G 9 G, deH 9 A w0, faad 9 9 1 oo oA S SR & 323 g
Tl ST WA & for 3RS oft wimen e1=r srwsdi 9 faere faerfaa 2t €1 v & o 1 maee
3% veg ser ° gfig o1 2, 9t aifverfaa =t faeneti o famar 2, 398 39 & A e
i HEel 1 e e g €1 U F st sl anfues sEer e 9l & a T faen,
YIEE-F9H, IRV MG 1 SR U & W ST a1l shi g1 | 18 3l 2 |

el YA 1 98 i |

(1) el Gwrel TRt 2 |

(2) M UH-gE F gE #l eEEg wl

(3) T % Wit I gk B €

(4) SIS sl H1 ITENT HEAT STEYTF 78 © |

[Question ID = 181][Question Description = S18_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)



few T TEnyT wt saTUded ufew @O U T U9 & fo wew sugea faswew T e
hifTa |

WA AT TgwIfeh €1 39 GO & 9t o= g € €, e smenedi o e i e
SRR ] TSR TS Tk 3 W AL W91 3 ®Y @G fou 9 € 390 o= wi geredshdr aen
TS T THRIHS THE TSl €1 el H el ol agwifish aiaisti s STEn 1, dren-faam
! T gfte = Hewqyl U8e] ¢l agHIuskal UHr Wik ¢ e s 9 sAfus wwisll &
SR i TR o e & | U & 9O § g9 o HIY-H1 S ey ariet aut $7=1 7o
Fl G o 9, e 9 e F, faEs 91 9gd 1 Hed fom S agenfierar s 329 B
wrefEEl =61 T & o 08 ot s e el § e faerfaa St €1 e % e = gaee
3% Y% Yer § gfg 1 g, sueht arfierfaa & fasnedi 1 famar &, 399 99 F U e
&1 GO 1 o o1fe B ¥ | sk g afeer e/ anfuss sager R arell & g e, fae,
VIeg-FFH, SRV AT(E 1 HER UH & 9N A amel i gan | A Jar g

IRl 31 1 R € ?

(1) Tafs= sroedi =1 e 3 396 =9e &6 I
(2) FaA A%F 9T H e Sy

(3) < @ FrEieEl e o 9 geT

(4) T o mifees gom s

[Question ID = 182][Question Description = S18_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



feu u wenyT *Y carTade ufew aur U T Uy & ferw e sugen fawew @ =
EaiEL

WA TS SEIoes €1 56 HS o gl o= sgeifies € €, oifers sensl f g w1 aiftes
SR T TSR ST T 37 W T8 W1 3 B9 g 60 9 € 398 9= i Goredehd q91
HH T RIS T TSl §1 el T awal i oI eaie s ST s, Hae-far
i agaiver gfie @1 dewgel ge ¥ agwifterar T gk @ oo e & sifues el %
IR =l TR a1 S 8 1 U & WO AT S WY -HY & Ay st aut 3= e
F1 G 9 WHEH, T 9 o9 3, foee qen ued o vee e S st @ 32 ¥
el =T HFET & o h1g oft e s erstedl & fycrrt fosrfaa St €1 a3 fasrg 1 gers
I &g veR H gfg =1 1, 39l sifvsafa &1 fauneti @1 fawar 291, 394 39 o A0 s1ae
I Gl 1 e e B ¥ 1 U ¥ st aoedi/sanfie sreer R gl & ar foE e,
TIeE -9, ISR G 1 R TH & W S=4 a1l 1 gan | o1fus S 8

e H g ] SgHIT SHl 1 SYAr I Al =iey 2 Hiife
(1) ==l sl YT STfed Bl @ |

(2) o= Tahel T A R |

(3) == H WHY g ) s it 2t 2

(4) =i FI T F1 FTER B 2

[Question ID = 183][Question Description = S18_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



feu u wenyT *Y carTade ufew aur U T Uy & ferw e sugen fawew @ =
EaiEL

WA TS SEIoes €1 56 HS o gl o= sgeifies € €, oifers sensl f g w1 aiftes
SR T TSR ST T 37 W T8 W1 3 B9 g 60 9 € 398 9= i Goredehd q91
HH T RIS T TSl §1 el T awal i oI eaie s ST s, Hae-far
i agaiver gfie @1 dewgel ge ¥ agwifterar T gk @ oo e & sifues el %
IR =l TR a1 S 8 1 U & WO AT S WY -HY & Ay st aut 3= e
F1 G 9 WHEH, T 9 o9 3, foee qen ued o vee e S st @ 32 ¥
el =T HFET & o h1g oft e s erstedl & fycrrt fosrfaa St €1 a3 fasrg 1 gers
I &g veR H gfg =1 1, 39l sifvsafa &1 fauneti @1 fawar 291, 394 39 o A0 s1ae
I Gl 1 e e B ¥ 1 U ¥ st aoedi/sanfie sreer R gl & ar foE e,
TIeE -9, ISR G 1 R TH & W S=4 a1l 1 gan | o1fus S 8

e < fasmg 9 = Aty & 2

(1) g SR = Hifdd g

(2) sifyeafaa & fau sTaR GureaTd g

(3) Hfaur i g H T 9w

(4) o Hesft arewEl § gig g

[Question ID = 184][Question Description = S18_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]

2. 2 [Option ID = 734]

3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

3)



feu u wenyT *Y carTade ufew aur U T Uy & ferw e sugen fawew @ =
EaiEL

WA TS SEIoes €1 56 HS o gl o= sgeifies € €, oifers sensl f g w1 aiftes
aTEAfereha] T ToR ST e 37 W T8 W91 3 B9 g 60 9 € 398 9= il GeHedehd q91
GO T RIS T TSl §1 el T awal hi SgIiue eaie s ST s, S faar
it agaives gfie 1 dewgel ge ¥ agwifterar T gk @ oo e & sifuss el %
IR I TR a1 S &1 U & WO H AIgaT S YWY & Ay st aut 3= e
F1 G 9 WHEH, T 9 a3, foae qen ued i vee oA S sgefueser @S2 ¥
wyreiferet =1 g & o hrg oft e s el & facrrt fosrfaa St €1 a3 fasrg 1 Aot
I &g veR H gfg =1 e, 39l sifvsafa &1 faeneti @1 fawar 291, 398 39 o A0 31aed
T G 1 e T B ¥ 1 U ¥ sty oedi/sanfye seer R arel & ard foeE e,
YS9, ISR G 1 SR TH & W S 91l &1 ga § o1fes a2

wRerTsT faenedf =t qor B agurdt farnef % ur - sifs @ 1 dureAnd aifies €2
(1) o=, Afuswr, foa

(2) M, Hedl, (e H R

(3) weE =, foa, faumd

(4) YA H w4, f¥a 7 e 92r

[Question ID = 185][Question Description = S18_Hindi Content/Pedagogy_Q095]

1. 1 [Option ID = 737]

2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



few wu ey it sargde ufew qun 9B T uv o fo wew suge fawew = wEw
THiTeT |

R TS Sgaites § 1 59 9O & Hoft o= gy 2 €, <ifehe shensii H wuw o) afyes
ATEATehdl 2l TSR SIS #leh 31 W A%T W &% w9 o1 fou S € 56 S= sl gorTeHedl a2
T R TRRICHF T TSl €1 Tl a=ai i ageifae araed F1 ST w1, dee- e
i sgies gfe &1 Ayl wee ¥1 agwifterar U wfe € f5ad s 9 sifus el &
IYFNT Rl TR FRa1 ST 8 | Uk B H9E H G 6 HIG-TE A ST/ 9o S 6
F AT 9 9, FeH 9 e H, faEs 91 TgH w1 Hedd o ST agefiehan s 38 B
rarferel st BT & for onrg oft wmer 1= wronsdi O et faerfad 2rdt 81 oo & faerg &1 gae
3% =g Wer ° gfg 1 2, Sght erfisafaa & fauneti o1 famr 8, 398 39 F AU eree
1 GuTEIRT g o g 1 U F safesr s anfies sreer e A & ar fee faen,
YIEE-T7H, 37T G F1 WeR TH & Wl ST a1l =i g1 H 1fees e 2

et 7 aguiires feerf o) Tomeiars s & o sifyr 82
(1) ===l =l fadl ot v 5 S i 1AM |
(2) ==l Sl HIGH™ & we A H et sAferrs s
(3) T 3 &1 9T
(4) IS @A W HT EN TN FHIEA

[Question ID = 186][Question Description = S18_Hindi Content/Pedagogy_Q096]

1. 1 [Option ID = 741]

2. 2 [Option ID = 742]

3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)



few wu ey it sargde ufew qun 9B T uv o fo wew suge fawew = wEw
THiTeT |

R TS Sgaiies § 1 59 9O & 9oft o sgnfyes 2§, <ifehe ensti ® wos w1 afyes
ATEATehdl 2l TSR SIS #leh 31 W A%T W &% w9 o1 fou S € 56 S= sl gorTeHedl a2
T R TRRICHF T TSl €1 Tl a=ai i ageifae araed F1 ST w1, dee- e
i sgies gfe &1 Ayl wee ¥1 agwifterar U wfe € f5ad s 9 sifus el &
IYFNT Rl TR fHa1 ST 8 | Uk B H9E H G 6 HIG-TE A T/ 9o S 6
F AT 9 9, FeH 9 e H, faEs 91 TgH w1 Hedd o ST agefiehan s 38 B
rarferel st BT & for onrg oft wmer 1= wronsdi O et faerfad 2rdt 81 oo & faerg &1 gae
3% =g Wer ° gfg 1 2, Sght erfisafaa & fauneti o1 famr 8, 398 39 F AU eree
1 GOTEIRT G o g 1 U F sifesr s anfies seer e A & ar e faen,
YIEE-T7H, 37T G F1 WeR TH & Wl ST a1l =i g1 H 1fees e 2
191 958 fe € 2

(1)  =er

(2) gt
(3) HeT

(4) @Ga

[Question ID = 187][Question Description = S18_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)



few wu ey it sargde ufew qun 9B T uv o fo wew suge fawew = wEw
THiTeT |

R TS Sgaiies § 1 59 9O & 9oft o sgnfyes 2§, <ifehe ensti ® wos w1 afyes
ATEATehdl 2l TSR SIS #leh 31 W A%T W &% w9 o1 fou S € 56 S= sl gorTeHedl a2
T R TRRICHF T TSl €1 Tl a=ai i ageifae araed F1 ST w1, dee- e
i sgies gfe &1 Ayl wee ¥1 agwifterar U wfe € f5ad s 9 sifus el &
IYFNT Rl TR fHa1 ST 8 | Uk B H9E H G 6 HIG-TE A T/ 9o S 6
F AT 9 9, FeH 9 e H, faEs 91 TgH w1 Hedd o ST agefiehan s 38 B
rarferel st BT & for onrg oft wmer 1= wronsdi O et faerfad 2rdt 81 oo & faerg &1 gae
3% =g Wer ° gfg 1 2, Sght erfisafaa & fauneti o1 famr 8, 398 39 F AU eree
1 GOTEIRT G o g 1 U F sifesr s anfies seer e A & ar e faen,
YIEE-T7H, 37T G F1 WeR TH & Wl ST a1l =i g1 H 1fees e 2

forg gise § a1 Yo TTERY A1 Giefen gee ST ST Hehell € 2

(1) &
(2)  HyrEA
(3) s
(4) A

[Question ID = 188][Question Description = S18_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)



few wu ey it sargde ufew qun 9B T uv o fo wew suge fawew = wEw
THiTeT |

R TS Sgaiies § 1 59 9O & 9oft o sgnfyes 2§, <ifehe ensti ® wos w1 afyes
ATEATehdl 2l TSR SIS #leh 31 W A%T W &% w9 o1 fou S € 56 S= sl gorTeHedl a2
T R TRRICHF T TSl €1 Tl a=ai i ageifae araed F1 ST w1, dee- e
i sgies gfe &1 Ayl wee ¥1 agwifterar U wfe € f5ad s 9 sifus el &
IYFNT Rl TR fHa1 ST 8 | Uk B H9E H G 6 HIG-TE A T/ 9o S 6
F AT 9 9, FeH 9 e H, faEs 91 TgH w1 Hedd o ST agefiehan s 38 B
rarferel st BT & for onrg oft wmer 1= wronsdi O et faerfad 2rdt 81 oo & faerg &1 gae
3% =g Wer ° gfg 1 2, Sght erfisafaa & fauneti o1 famr 8, 398 39 F AU eree
1 GOTEIRT G o g 1 U F sifesr s anfies seer e A & ar e faen,
YIEE-T7H, 37T G F1 WeR TH & Wl ST a1l =i g1 H 1fees e 2
‘faa' @1 a1 P ®2

(1) 98 &
(2) e e
(3) s wifed | Frener arer 7Y

(4) STd H&H e a1 o

[Question ID = 189][Question Description = S18_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET

1)



few g hreaiyr T earTEe ufew o UB T uyE o o wed Suge famew @ wa @i
wHifdHa T8 99 &9,

yad femred & e W, 3% faas afd =m)

Fife-hife Haeer | =8 =erar gfore | |
SR g fem ),

e =i | e 1)

QU Yeieh 8 99 0 i, whife-hife SH-T101 1 AR
HfeHrg Wiad 9 sF,

TSI T8 For-fae geew 1|

STTd-ded, faga aftams,

STTOTE oM | TR 1|

=g Q1 90 = fae, siea-H1 §en |

HR qEA § T,

SR o hftad dem 1|

o el & s e & fF TR 39 OgE gER § g § 2
(1) SfeEe == | 9@ 1)

(2) Sd-ded fagd fiEms,

(3) HIfe-whife daww @ 78

(4) hfar 7% <91 T

[Question ID = 190][Question Description = S18_Hindi Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

2)



few g hreaiyr T earTEe ufew o UB T uyE o o wed Suge famew @ wa @i
HifHa 7 <31 g9,

o fedre™ o ware W, o750 faas &fd =)
Fife-=ife Haow ¥ =8 Il 9fus A |
SR g fem ),

SifemE Wi 9 e ||

QU Yeieh 8 99 0 i, whife-hife SH-T101 1 AR
HfeHrg Wiad 9 sF,
T3 ¥ Ta-Fa gt

STTd-ded, faga aftams,
STTOTE oM | TR 1|

7% Q1 90 = i, Siaa-H1 98r |

R g1 H T,

SR o hftad dem 1|

A TS T FHET a7

(1) <0 H=rd et 1 oo

2) =9 fmior s e

(3) 29 % rEHg 79 w5

(4) o T AT o femm
[Question ID = 191][Question Description = S18_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]

3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

3)



few g hreaiyr T earTEe ufew o UB T uyE o o wed Suge famew @ wa @i
HifHa 7 <31 g9,

god fedrer™ o oare W, o750 faas &fa =)
Fife-=ife Haow ¥ =8 Il 9fus A |
SR g fem ),

SifemE Wi 9 e ||

QU Yeieh 8 99 0 i, whife-hife SH-T101 1 AR
HfeHrg Wiad 9 sF,

TSI T8 For-fae geew 1|

STd-ded, faga aftams,
STTOTE oM | TR 1|

=g Q1 90 = fae, siea-H1 §en |

H g1 § ¥I5T9,

SR o hftad dem 1|

g 7 TV F FEIUER 7 e T a9 e ?
(1) @iy

(2) Teumera ged

(3) =Held WAl ufers

(4) ufax velish

[Question ID = 192][Question Description = S18_Hindi Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

4)



few g hreaiyr T earTEe ufew o UB T uyE o o wed Suge famew @ wa @i
HifHa 7 <31 g9,

o fedre™ o ware W, o750 faas &fd =)
Fife-=ife Haow ¥ =8 Il 9fus A |
SR g fem ),

SifemE Wi 9 e ||

QU Yeieh 8 99 0 i, whife-hife SH-T101 1 AR
HfeHrg Wiad 9 sF,
T3 ¥ Ta-Fae gt

STTd-ded, faga aftams,
STTOTE oM | TR 1|

7% Q1 90 = fae, sie-H1 §8r |

R e H TeTH,

SR o hftad dem 1|

FF % STTER TN F BA-H a1 7 1 gL el g 2
(1) e o

(2) ”ﬁwﬂﬁ

(3) oo feqeE

(4) T ¥

[Question ID = 193][Question Description = S18_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

5)



few g hreaiyr T earTEe ufew o UB T uyE o o wed Suge famew @ wa @i
HifHa 7 <31 g9,

o fedre™ o ware W, o750 faas &fd =)
Fife-=ife Haow ¥ =8 Il 9fus A |
FUFHRHT qaA-Fen |,

SifemE Wi 9 e ||

QU Yeieh 8 99 0 i, whife-hife SH-T101 1 AR
HfeHrg Wiad 9 sF,
T3 ¥ Ta-Fae gt

STTd-ded, faga aftams,
STTOTE oM | TR 1|

7 I A Fa= Tifaed, e 930 98 |

R g1 H 5,
SR o hftad dem 1|
“faga’ &1 219 § :

(1) TEh

(2) wEs

3) fagrgm

(4) wfem

[Question ID = 194][Question Description = S18_Hindi Content/Pedagogy_Q104]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

6)



few g hreaiyr T earTEe ufew o UB T uyE o o wed Suge famew @ wa @i
HifHa 7 <31 g9,

god fedrer™ o oare W, o750 faas &fa =)
Fife-=ife Haow ¥ =8 Il 9fus A |
SR g fem ),

SifemE Wi 9 e ||

QU Yeieh 8 99 0 i, whife-hife SH-T101 1 AR
HfeHrg Wiad 9 sF,

TSI T8 For-fae geew 1|

STd-ded, faga aftams,
STTOTE oM | TR 1|

=g Q1 90 = fae, siea-H1 §en |

H g1 § ¥I5T9,

SR o hftad dem 1|

‘ s T | H YEifed e # g 2
(1) fagmm

(2) &

3) HaIH

(4) o

[Question ID = 195][Question Description = S18_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET

Vg 9 o uftdre 8 @ armd g 1 et #1 Q smwei w1 g
(1) ==l o forq eyt €
(2) ==l % o A ©
(3) TEE T ot 79 TE S
(4) IRERE B9 9 a0Ea HO
1[Q:J(F;tit?n |I|; =718 ‘:]6][Question Description = S18_Hindi Content/Pedagogy_Q106]
2. 2 [Option ID = 782]

3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

2)



frefafiad § & s fagr agamn & sty & S/ g sfr s wnafass gfwan =
e fagra w& € 2

(1) aie 9Ed | Tgel JErd 9 o

(2) o iy § ufanr & gewi €@ ¥am

(3) @A AUl LA F LI T HATYRINHF FHH T o1 &1

(4) ofeEer § el 51 @ gad smsd | sifyr &t waar @ St

[Question ID = 197][Question Description = S18_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

Y smme E AE R 2

(1) s SAferm GaEe nfafaty &

(2) sifermm faemermar s sifirm & wefam 72 8

(3) Sl I ST ST M T SR HH HA S e R Y w9 Heg ©
(4)  sifeEre fersheiTral &1 & H & YE9H H o1 Hhel U i el ©

[Question ID = 198][Question Description = S18_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

Y el T e et Y e w5
(1) H oo faenfefi =1 erfaar w7 1 emafa S €1
(2) B a1 fenfeai = e | fouwn i == w0+ argmEfa <6 €
(3) H forenfeli =t e § st v % o sier & o weafed s €
4) T ored FE & e yrey SR w9 9 6 e |

[Question ID = 199][Question Description = S18_Hindi Content/Pedagogy_Q109]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

Y ffefad § § SH-w e w5 fafere = @ 2
(1) °reE et 9 9 forel fafsm e § e fepe
(2) orT=E 1 Ay fer
3) = fum-fu= faarl & <= ddy (SEE) 1 998
(4) =g H AT V&) & 9 g (U A TE) F wwEE T

[Question ID = 200][Question Description = S18_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]



6) 2 i
Trefafad | 9 -t o e 1 gy =& € 2
(1) T ST (SFHergfST)
(2) HYE/HTE
(3) HEfd y=E
(4) VEEATHHATTR
[Question ID = 201][Question Description = S18_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]

3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

7) Q . % g < :
HL T (SHUSI) i o H GLH I ] S5 USRS € Fih -
(1)  siirsh sfeer o @
(2) BH eHRI Tem YT ¥ dedy STt Wi w8
(3) W T MRS o ¥
(4)  eHirsh sfmfrefies g e

[Question ID = 202][Question Description = S18_Hindi Content/Pedagogy_Q112]

1. 1 [Option ID = 805]

2. 2 [Option ID = 806]

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

8)

7% forga e T o=l o WeeTa wifep epaan 2t © iR =i # o =1 fasrry S oot w9
21 & S T 9w Staesty el w1 fawm )

(1) =us fEm
(2) A\ =R
(3) e AN
(4) S TS

[Question ID = 203][Question Description = S18_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

9)

SATHTV o FENE e & 9 H RF-H e & T8 ¢ 2

(1) =rEfess dare | o8] 1 g

2) Hed ¥ e % g e # gt

(3) arEfaE SiEd 9§ e Teg H ] o S & ok ST oAl
(4) i = e oir fea gr = die

[Question ID = 204][Question Description = S18_Hindi Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]



3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

" - fagra T e A 2020 ¥ srER e 1 gen faara w9 E 2
(1)  =Re&T i ek SfAE HIaTE Bt Hi o
(2) wwenedl SR faam § e
(3) T @i yaf iR Tdeneii o fom 9gr & W W AGUROEE G99 T g9 o
(4) TGA AHAT & foIU AEHS e T &3 Whhal & §9 §
1[Q:J(F;tit?n |I|; =821(;]5][Question Description = S18_Hindi Content/Pedagogy_Q115]
2. 2 [Option ID = 818]

3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

11)

foerfefad | -1 e 9T i e 3 Heof ¥ ud T ¥ 2

(1) Tt e o 9iR @ @ €, SO Hond foer # o foenef diw w )

(2)  SEenEa e o areed & R Sel fveneff goemg 99 € o srus o e @ ue w E

(3) ‘“forem e, wE H w0, WEn w99 Al § (e gl s s wfafafy § Her
ST G §

(4) T FeAfER faenfe = e o 9 = % fau wEd §

[Question ID = 206][Question Description = S18_Hindi Content/Pedagogy_Q116]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

12)

e Aty § 9 wnfe 5 @ 2

(1) FATErEA AT R

(2) e UE Wl HHEE e

(3) = s sifurm 2T foren

(4) oot & =i F o30S § gremn ok e

[Question ID = 207][Question Description = S18_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 825]

2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

13)



Fereferfian @ - Ff S S 9 Fer 3 ¥ ded § g w8 2 2

(1)

STEAI i el § ATy faerarivdl ol Je9m i & fou sifyvrashi sir 9diift sreamgei
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1

0

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
introducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu literature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called ‘Hans". In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the ‘Maryada’ magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

Which pseudonym did Munshi use for his works in Urdu ?

(1)
2

jx]

(2)
(3)
(4)

He

Dhanpat Rai
Saraswati

Nawabrai
Majboor
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Read the passage given below and answer the question that fellow by choosing the
most appropriate option from the given one.

1.

(65

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
infroducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu hiterature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called “Hans’. In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the “Maryada” magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand'’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

Why was Premchand reproached by the British officials ?

(1)

(

(

2)
(3)
4)

He wrote both in Hindi and Urdu.
He wrote in the language of common people.
He participated in freedom struggle.

He wrote a collection of rebellious short-stories.

[Question ID = 362][Question Description = S18_English Content/Pedagogy_Q122]
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Read the passage given below and answer the question that fellow by choosing the
most appropriate option from the given one.

1.

(65

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
infroducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu hiterature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called “Hans’. In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the “Maryada” magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand'’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

Which style of writing was introduced by Premchand in Hindi literature ?

(1)

(

(

2)
(3)
4)

realism
romanticism
fiction

horror
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

(65

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
infroducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu literature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called “Hans’. In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the “‘Maryada” magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand'’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

According to the passage, which combination accurately describes different professions
that Premchand took up in different phases of his life ?

(1)

(
(

2)
(3)
4)

publisher, actor, filmmaker, teacher

publisher, script-writer, headmaster, editor
publisher, teacher, scriptwriter, film-maker
publisher, script-writer, editor, film-maker
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

(65

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
infroducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu literature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called “Hans’. In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the “‘Maryada” magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand'’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

Which of the following were the major themes in Premchand’s writings ? Choose the
appropriate combination.

a)
b)
)
)

B e =) anrn

(
(
(
(
(
(
(

)
)
)
)

e

(

Communalism
Colonialism
Capitalism
Corruption
(), (b), (d)

(b), (c), (d)
(@), (c), (d)

(@), (b), (¢)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

(65

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
infroducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu literature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called “Hans’. In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the “‘Maryada” magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand'’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

Which of the following words is closest in meaning to the word, “penury” as used in
para 4 of the passage ?

(1)

(
(

2)
(3)
4)

bourgeois
poverty
affluence
magnificence
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

(65

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
infroducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu literature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called “Hans’. In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the “‘Maryada” magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand'’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

Read the following statements :

(A)
(B)
(1

(
3

(R ]

3

)
)
)
(4)

He resigned from government service in 1921.

He responded to Mahatma Gandhi’s call and refused to marry.
Both (A) and (B) are true.

Both (A) and (B) are false.

(A)is true and (B) is false.

(A) is false and (B) is true.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

(65

Dhanpat Rai Srivastava or Munshi Premchand as he was better known was born
on 31 July, 1880 in Lamahi near Varanasi in Uttar Pradesh. He ranks as one of the
tallest icons in the field of modern Hindi and Urdu literature. He had to face
tremendous struggles to make his ends meet due to his parents’ early death. In
1910, the District Magistrate in Jamirpur reprimanded him for his collection of short
stories Soz-e-Watan, which was termed as seditious. Hereafter, he began to write
under the pen name “Premchand”.

He wrote in Urdu under the name of Nawabrai. Credited with introducing realism
to the world of Hindi literature, he responded to Mahatma Gandhi’s call in 1921
and resigned from government service. On the personal front, he married twice.
He used to write in the language of the common people and is credited with
infroducing issues like communalism, corruption, poverty and colonialism into Hindi
and Urdu literature.

In 1923, he established a publishing house * Saraswati Press’. In 1930, he came up
with a political-weekly called “Hans’. In 1931, he took a job of teacher in a Marwari
College in Kanpur. In the same year he left the job and came back to Benaras and
worked as an editor of the “‘Maryada” magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai and worked as a script writer for Ajanta
Cinetone, a production house. The script for film Majboor was written by him. His
last works were Kafan and Godaan.

He lived a life of penury. Many of his works were later made into movies and
television serials. The legendary Satyajit Ray made two movies based on Premchand'’s
works--Sadgati and Shatranj Ke Khiladi. Premchand also wrote some plays. His
works have been translated into many Indian and foreign languages. He passed
away on October 8, 1936.

Which part of speech is the underlined word in the sentence given below ?

“He wrote in Urdu too under the name ....."

1)
)
3)
(4)

e T U
D3

',

Adjective
Preposition
Conjuction
Adverb
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

The words-Invention and Innovation are closely linked, but they are not
interchangeable. The inventor is a genius who uses his intellect, imagination, time
and resources to create something that does not exist. But this invention may or may
not be of utility to the masses. It is the enterprising innovator who uses various
resources, skills and time to make the invention available for use. The innovator
might use the invention as it is, modify it or even blend two or more inventions to
make one marketable product.

If an invention is the result of countless trials and errors, so can be the case with an
innovation. Not every attempt to make an invention is successful. Not every
innovation sees the light of the day. Benjamin Franklin had the belief that success
doesn’t come without challenge, mistake and in a few cases failure.

One of the world’s most famous innovators, Steve Jobs says, “Sometimes when you
innovate, you make mistakes. It is best to admit them quickly and get on with
improving your other innovations.” Thus, inventors and innovators have to be
infrepid enough to take risks; consider failures as stepping stones and not stumbling
blocks.

The inventor of Velcro was hiking in the woods when he found burrs clinging to his
clothes and his dog’s fur. A few years later, he made and patented the strips of
fabric that came to us as Velcro.

It is not easy, and at times almost impossible, for an inventor to be an innovator too.
There are very few like Thomas Edison who graduated from being an incredible
inventor to a successful manufacturer and businessman with brilliant marketing
skills. While innovations that have helped to enhance the quality of life are laudable,
equally laudable are the inventions that laid the foundation of these very innovations.

The main idea of the author is to in the given passage.

(1)
(2)
(3)
(4)

highlight the difficulties faced by innovators.

reveal the importance of inventors.

motivate readers to focus on becoming entrepreneurs.
Compare innovators to inventors.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1. The words-Invention and Innovation are closely linked, but they are not
interchangeable. The inventor is a genius who uses his intellect, imagination, time
and resources to create something that does not exist. But this invention may or may
not be of utility to the masses. It is the enterprising innovator who uses various
resources, skills and time to make the invention available for use. The innovator
might use the invention as it is, modify it or even blend two or more inventions to
make one marketable product.

2. If an invention is the result of countless trials and errors, so can be the case with an
innovation. Not every attempt to make an invention is successful. Not every
innovation sees the light of the day. Benjamin Franklin had the belief that success
doesn’t come without challenge, mistake and in a few cases failure.

3. One of the world’s most famous innovators, Steve Jobs says, “Sometimes when you
innovate, you make mistakes. It is best to admit them quickly and get on with
improving your other innovations.” Thus, inventors and innovators have to be
infrepid enough to take risks; consider failures as stepping stones and not stumbling
blocks.

4, The inventor of Velcro was hiking in the woods when he found burrs clinging to his
clothes and his dog’s fur. A few years later, he made and patented the strips of
fabric that came to us as Velcro.

5. It is not easy, and at times almost impossible, for an inventor to be an innovator too.

There are very few like Thomas Edison who graduated from being an incredible

inventor to a successful manufacturer and businessman with brilliant marketing

skills. While innovations that have helped to enhance the quality of life are laudable,
equally laudable are the inventions that laid the foundation of these very innovations.

Velcro can be best described as
(1)  the need of the hour

(2) an accidental invention
(3) the fruit of failure.

(4)

a highly planned and researched invention.
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1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]
3.

4. 4 [Option ID = 1480]

3 [Option ID = 1479]

3)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

The words-Invention and Innovation are closely linked, but they are not
interchangeable. The inventor is a genius who uses his intellect, imagination, time
and resources to create something that does not exist. But this invention may or may
not be of utility to the masses. It is the enterprising innovator who uses various
resources, skills and time to make the invention available for use. The innovator
might use the invention as it is, modify it or even blend two or more inventions to
make one marketable product.

If an invention is the result of countless trials and errors, so can be the case with an
innovation. Not every attempt to make an invention is successful. Not every
innovation sees the light of the day. Benjamin Franklin had the belief that success
doesn’t come without challenge, mistake and in a few cases failure.

One of the world’s most famous innovators, Steve Jobs says, “Sometimes when you
innovate, you make mistakes. It is best to admit them quickly and get on with
improving your other innovations.” Thus, inventors and innovators have to be
infrepid enough to take risks; consider failures as stepping stones and not stumbling
blocks.

The inventor of Velcro was hiking in the woods when he found burrs clinging to his
clothes and his dog’s fur. A few years later, he made and patented the strips of
fabric that came to us as Velcro.

It is not easy, and at times almost impossible, for an inventor to be an innovator too.
There are very few like Thomas Edison who graduated from being an incredible
inventor to a successful manufacturer and businessman with brilliant marketing
skills. While innovations that have helped to enhance the quality of life are laudable,
equally laudable are the inventions that laid the foundation of these very innovations.

Which of the following statements from the passage clearly indicates failure ?

(1)
(2)
(3)
(4)

Invention is the result of countless trials and errors.

Inventors and innovators have to be intrepid enough to take risks.
Not every innovation sees the light of the day.

If innovations are laudable, equally laudable are the inventions.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

The words-Invention and Innovation are closely linked, but they are not
interchangeable. The inventor is a genius who uses his intellect, imagination, time
and resources to create something that does not exist. But this invention may or may
not be of utility to the masses. It is the enterprising innovator who uses various
resources, skills and time to make the invention available for use. The innovator
might use the invention as it is, modify it or even blend two or more inventions to
make one marketable product.

If an invention is the result of countless trials and errors, so can be the case with an
innovation. Not every attempt to make an invention is successful. Not every
innovation sees the light of the day. Benjamin Franklin had the belief that success
doesn’t come without challenge, mistake and in a few cases failure.

One of the world’s most famous innovators, Steve Jobs says, “Sometimes when you
innovate, you make mistakes. It is best to admit them quickly and get on with
improving your other innovations.” Thus, inventors and innovators have to be
infrepid enough to take risks; consider failures as stepping stones and not stumbling
blocks.

The inventor of Velcro was hiking in the woods when he found burrs clinging to his
clothes and his dog’s fur. A few years later, he made and patented the strips of
fabric that came to us as Velcro.

It is not easy, and at times almost impossible, for an inventor to be an innovator too.
There are very few like Thomas Edison who graduated from being an incredible
inventor to a successful manufacturer and businessman with brilliant marketing
skills. While innovations that have helped to enhance the quality of life are laudable,
equally laudable are the inventions that laid the foundation of these very innovations.

Which of the following statements does NOT hold true in light of the passage ?

(1)
(2)
(3)
(4)

Inventors may not be Innovators.

Invention is the same as Innovation.
Invention may not necessarily be useful.
Innovators enhance the utility of inventions.

[Question ID = 372][Question Description = S18_English Content/Pedagogy_Q132]

1
2
3.
4. 4 [Option ID = 1488]

. 1 [Option ID = 1485]
. 2 [Option ID = 1486]

3 [Option ID = 1487]

5)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

The words-Invention and Innovation are closely linked, but they are not
interchangeable. The inventor is a genius who uses his intellect, imagination, time
and resources to create something that does not exist. But this invention may or may
not be of utility to the masses. It is the enterprising innovator who uses various
resources, skills and time to make the invention available for use. The innovator
might use the invention as it is, modify it or even blend two or more inventions to
make one marketable product.

If an invention is the result of countless trials and errors, so can be the case with an
innovation. Not every attempt to make an invention is successful. Not every
innovation sees the light of the day. Benjamin Franklin had the belief that success
doesn’t come without challenge, mistake and in a few cases failure.

One of the world’s most famous innovators, Steve Jobs says, “Sometimes when you
innovate, you make mistakes. It is best to admit them quickly and get on with
improving your other innovations.” Thus, inventors and innovators have to be
infrepid enough to take risks; consider failures as stepping stones and not stumbling
blocks.

The inventor of Velcro was hiking in the woods when he found burrs clinging to his
clothes and his dog’s fur. A few years later, he made and patented the strips of
fabric that came to us as Velcro.

It is not easy, and at times almost impossible, for an inventor to be an innovator too.
There are very few like Thomas Edison who graduated from being an incredible
inventor to a successful manufacturer and businessman with brilliant marketing
skills. While innovations that have helped to enhance the quality of life are laudable,
equally laudable are the inventions that laid the foundation of these very innovations.

Benjamin Franklin and Steve Jobs believe that

(1)
(2)
(3)
(4)

making a mistake before finding success is not unusual.

there is no place for mistakes in the process of making an innovation.
failure is a permanent stumbling block.

all innovators have to go through failure.

[Question ID = 373][Question Description = S18_English Content/Pedagogy_Q133]

1
2
3.
4. 4 [Option ID = 1492]

. 1 [Option ID = 1489]
. 2 [Option ID = 1490]

3 [Option ID = 1491]

6)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

The words-Invention and Innovation are closely linked, but they are not
interchangeable. The inventor is a genius who uses his intellect, imagination, time
and resources to create something that does not exist. But this invention may or may
not be of utility to the masses. It is the enterprising innovator who uses various
resources, skills and time to make the invention available for use. The innovator
might use the invention as it is, modify it or even blend two or more inventions to
make one marketable product.

If an invention is the result of countless trials and errors, so can be the case with an
innovation. Not every attempt to make an invention is successful. Not every
innovation sees the light of the day. Benjamin Franklin had the belief that success
doesn’t come without challenge, mistake and in a few cases failure.

One of the world’s most famous innovators, Steve Jobs says, “Sometimes when you
innovate, you make mistakes. It is best to admit them quickly and get on with
improving your other innovations.” Thus, inventors and innovators have to be
infrepid enough to take risks; consider failures as stepping stones and not stumbling
blocks.

The inventor of Velcro was hiking in the woods when he found burrs clinging to his
clothes and his dog’s fur. A few years later, he made and patented the strips of
fabric that came to us as Velcro.

It is not easy, and at times almost impossible, for an inventor to be an innovator too.
There are very few like Thomas Edison who graduated from being an incredible
inventor to a successful manufacturer and businessman with brilliant marketing
skills. While innovations that have helped to enhance the quality of life are laudable,
equally laudable are the inventions that laid the foundation of these very innovations.

Which of the following words can replace the word ‘intrepid’ in para 3 of the passage ?

(1)
(2)
(3)
(4)

unworthy
daring
intellectual
rich

[Question ID = 374][Question Description = S18_English Content/Pedagogy_Q134]

1
2
3.
4. 4 [Option ID = 1496]

. 1 [Option ID = 1493]
. 2 [Option ID = 1494]

3 [Option ID = 1495]

7)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

The words-Invention and Innovation are closely linked, but they are not
interchangeable. The inventor is a genius who uses his intellect, imagination, time
and resources to create something that does not exist. But this invention may or may
not be of utility to the masses. It is the enterprising innovator who uses various
resources, skills and time to make the invention available for use. The innovator
might use the invention as it is, modify it or even blend two or more inventions to
make one marketable product.

If an invention is the result of countless trials and errors, so can be the case with an
innovation. Not every attempt to make an invention is successful. Not every
innovation sees the light of the day. Benjamin Franklin had the belief that success
doesn’t come without challenge, mistake and in a few cases failure.

One of the world’s most famous innovators, Steve Jobs says, “Sometimes when you
innovate, you make mistakes. It is best to admit them quickly and get on with
improving your other innovations.” Thus, inventors and innovators have to be
infrepid enough to take risks; consider failures as stepping stones and not stumbling
blocks.

The inventor of Velcro was hiking in the woods when he found burrs clinging to his
clothes and his dog’s fur. A few years later, he made and patented the strips of
fabric that came to us as Velcro.

It is not easy, and at times almost impossible, for an inventor to be an innovator too.
There are very few like Thomas Edison who graduated from being an incredible
inventor to a successful manufacturer and businessman with brilliant marketing
skills. While innovations that have helped to enhance the quality of life are laudable,
equally laudable are the inventions that laid the foundation of these very innovations.

Which part of speech is the underlined word in the sentence given below ?

“While innovations that have helped to enhance the quality of life.....”

(
(2)
(

1)

3)

(4)

[Question ID = 375][Question Description = S18_English Content/Pedagogy_Q135]

1
2
3.
4

Noun

Verb
Conjunction
Pronoun

. 1 [Option ID = 1497]
. 2 [Option ID = 1498]

3 [Option ID = 1499]

. 4 [Option ID = 1500]

Topic:- ENG_Q136-150_L2_P2_CTET

1)

Which one of these is NOT a typical step in a reading lesson for advanced learners ?

(1)
(2)
(3)
()

Reading between the lines

Giving the passage a title

Understanding the connections between different ideas in a paragraph
Understanding the syllable structure of words

[Question ID = 376][Question Description = S18_English Content/Pedagogy_Q136]



1. 1 [Option ID = 1501]

2. 2 [Option ID = 1502]

3. 3 [Option ID = 1503]

4. 4 [Option ID = 1504]

2)
Which one of the following is NOT a typical step in a speaking lesson for advanced
learners ?
(1) Doing a role-play
(2) Writing the script for role-play
(3) Learning how to spell words in the language
(4) Learning how to take turns in a dialogue

[Question ID = 377][Question Description = S18_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]

3)

A second language (like English language in India) is challenging as compared to a first
language (mother tongue) because :

(1) Second language is a complicated language

(2) The language is not spoken in our environment
(3) The first language is an Indian language
(4) It is the language of colonizers

[Question ID = 378][Question Description = S18_English Content/Pedagogy_Q138]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]

4 The emphasis of grammar in context is on

(1) internalising the rules of language
(2) ~memorising the rules of language
(3) translating the content

(4) overgeneralization of rules

[Question ID = 379][Question Description = S18_English Content/Pedagogy_Q139]
1. 1 [Option ID = 1513]
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]

5)

One of the following is NOT among the fundamental principles guiding education according
to NEP 2020 :

(1) Achieving foundational literacy by grade 3

(2) Correspondence between arts and sciences

(3) Emphasis on conceptual understanding rather than rote learning
(4) Language lessons have no correspondence with other subjects

[Question ID = 380][Question Description = S18_English Content/Pedagogy_Q140]



1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]

® Experiential learning does NOT include :

(I) Pedagogy based on experience outside the classroom
(2) Comprehensive pedagogy spanning across subjects
(3) Competency-based learning

(4) Learning by rote and memorization

[Question ID = 381][Question Description = S18_English Content/Pedagogy_Q141]
1. 1 [Option ID = 1521]

2. 2 [Option ID = 1522]

3. 3 [Option ID = 1523]

4. 4 [Option ID = 1524]

7)

Which one of the statement is NOT true ?
Teachers must seek help to idénh'fy learning disabilities in class.

(1)
(2) Learning disabilities should be identified as early possible.
(3)

3

Teachers may help learners with learning disabilities by letting children work at
their own pace.

(4) Such learners require special help which teachers need not extent.

[Question ID = 382][Question Description = S18_English Content/Pedagogy_Q142]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]

® Identify the most inappropriate classroom practice :

(1) Ido whatever comes to my mind in class.
(2)
(3) I use the lessons from the last time I taught the class.
(4)

I choose an authentic text-usually something in the news and use that.

I bring material from popular culture to class.

[Question ID = 383][Question Description = S18_English Content/Pedagogy_Q143]
1. 1 [Option ID = 1529]
2. 2 [Option ID = 1530]
3. 3 [Option ID = 1531]
4. 4[Option ID = 1532]

? When planning a lesson, which one of the things below is NOT kept in mind ?
(1) Students’ proficiency level

(2) The time of day of your lesson

(3) Complexity of activities

(4) Teacher's personal biases

[Question ID = 384][Question Description = S18_English Content/Pedagogy_Q144]
1. 1 [Option ID = 1533]
2. 2 [Option ID = 1534]
3. 3 [Option ID = 1535]
4. 4 [Option ID = 1536]



10)
When planning a lesson, which of the following questions should be lowest in priority ?
(1) What kind of activities should you do last in the lesson if students are full of energy ?

2) What is the cognitive complexity of the lesson ?

=y

(
(3) Would the theme be inappropriate for a specific local learner profile ?
(

4) Is there something you can supplement to address the needs of students of higher
proficiency ?

[Question ID = 385][Question Description = S18_English Content/Pedagogy_Q145]

. 1 [Option ID = 1537]

. 2 [Option ID = 1538]

1
2
3. 3 [Option ID = 1539]
4. 4 [Option ID = 1540]

11)

On Monday, the listening activities on the ‘Impact of the conservation efforts on society”
and the one on ‘The role of colours in our life’ seem to have no thematic connection with
each other. It would be best to :

(1) plan an activity on “voice and tense” with listening

(2)  think of a speaking activity related to one of the themes
(3) think of a listening activity that relates to social issues in the state
(4) practice functional language for participating a group discussion

[Question ID = 386][Question Description = S18_English Content/Pedagogy_Q146]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]

' Which of the following is INCORRECT ?

(1) Children with dyslexia should not be identified early

(2) Indian stories need to be incorporated in the curriculum
(3) Listening should be taught explicitly

(4) Pictures should be used for teaching vocabulary

[Question ID = 387][Question Description = S18_English Content/Pedagogy_Q147]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

" Which of the following is CORRECT ?

(1) Language lessons should not incorporate knowledge from real life

(2) Vocabulary can be taught using bilingual word lists
(3) Extra reading over-burdens learners
(4) Use of word-webs is nota good practice for word learning

[Question ID = 388][Question Description = S18_English Content/Pedagogy_Q148]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]



") Which of the following steps in a lesson on speaking is NOT true ?

(1) Using dialogues for real time speaking practice

(2) Learning how to identify syllables

(3) Playing a listening passage to understand word boundaries
(4) Feedback provided for a role-play activity

[Question ID = 389][Question Description = S18_English Content/Pedagogy_Q149]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]
3. 3 [Option ID = 1555]
4. 4 [Option ID = 1556]

15 : s
) Language Assessment is to be seen in terms of :

(1) a gradual process broken into small bits of assessment.

(2) a final product to be done during the semester-end examinations.
(3) summative assessment with many paper-pen tests.
(4) a routine process of conducting monthly tests and annual examination.

[Question ID = 390][Question Description = S18_English Content/Pedagogy_Q150]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]
3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]






